

HERMITE-HADAMARD TYPE INEQUALITIES FOR PRODUCT OF CONVEX AND SYMMETRIZED CONVEX FUNCTIONS

S. S. DRAGOMIR^{1,2}

ABSTRACT. In this paper we establish some Hermite-Hadamard type inequalities for the product of a convex function with a symmetrized convex function and also for two convex functions. Some examples for weighted integrals of interest are also provided.

1. INTRODUCTION

For a function $f : [a, b] \rightarrow \mathbb{C}$ we consider the *symmetrical transform of f* on the interval $[a, b]$, denoted by $\check{f}_{[a,b]}$ or simply \check{f} , when the interval $[a, b]$ is implicit, as defined by

$$(1.1) \quad \check{f}(t) := \frac{1}{2} [f(t) + f(a+b-t)], \quad t \in [a, b].$$

The *anti-symmetrical transform of f* on the interval $[a, b]$ is denoted by $\tilde{f}_{[a,b]}$, or simply \tilde{f} and is defined by

$$\tilde{f}(t) := \frac{1}{2} [f(t) - f(a+b-t)], \quad t \in [a, b].$$

It is obvious that for any function f we have $\check{f} + \tilde{f} = f$.

If f is convex on $[a, b]$, then for any $t_1, t_2 \in [a, b]$ and $\alpha, \beta \geq 0$ with $\alpha + \beta = 1$ we have

$$\begin{aligned} \check{f}(\alpha t_1 + \beta t_2) &= \frac{1}{2} [f(\alpha t_1 + \beta t_2) + f(a+b-\alpha t_1 - \beta t_2)] \\ &= \frac{1}{2} [f(\alpha t_1 + \beta t_2) + f(\alpha(a+b-t_1) + \beta(a+b-t_2))] \\ &\leq \frac{1}{2} [\alpha f(t_1) + \beta f(t_2) + \alpha f(a+b-t_1) + \beta f(a+b-t_2)] \\ &= \frac{1}{2} \alpha [f(t_1) + f(a+b-t_1)] + \frac{1}{2} \beta [f(t_2) + f(a+b-t_2)] \\ &= \alpha \check{f}(t_1) + \beta \check{f}(t_2), \end{aligned}$$

which shows that \check{f} is convex on $[a, b]$.

Consider the real numbers $a < b$ and define the function $f_0 : [a, b] \rightarrow \mathbb{R}$, $f_0(t) = t^3$. We have [1]

$$\check{f}_0(t) := \frac{1}{2} [t^3 + (a+b-t)^3] = \frac{3}{2} (a+b)t^2 - \frac{3}{2} (a+b)^2 t + \frac{1}{2} (a+b)^3$$

1991 *Mathematics Subject Classification.* 26D15; 25D10.

Key words and phrases. Convex functions, Hermite-Hadamard inequality, Integral inequalities, Symmetrized Convex functions.

for any $t \in \mathbb{R}$.

Since the second derivative $(\check{f}_0)''(t) = 3(a+b)$, $t \in \mathbb{R}$, then \check{f}_0 is strictly convex on $[a, b]$ if $\frac{a+b}{2} > 0$ and strictly concave on $[a, b]$ if $\frac{a+b}{2} < 0$. Therefore if $a < 0 < b$ with $\frac{a+b}{2} > 0$, then we can conclude that f_0 is not convex on $[a, b]$ while \check{f}_0 is convex on $[a, b]$.

We can introduce the following concept of convexity [1], see also [3] for an equivalent definition.

Definition 1. We say that the function $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex (concave) on the interval $[a, b]$ if the symmetrical transform \check{f} is convex (concave) on $[a, b]$.

Now, if we denote by $Con[a, b]$ the closed convex cone of convex functions defined on $[a, b]$ and by $SCon[a, b]$ the class of symmetrized convex functions, then from the above remarks we can conclude that

$$(1.2) \quad Con[a, b] \subsetneq SCon[a, b].$$

Also, if $[c, d] \subset [a, b]$ and $f \in SCon[a, b]$, then this does not imply in general that $f \in SCon[c, d]$.

We have the following result [1], [3]:

Theorem 1. Assume that $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex and integrable on the interval $[a, b]$. Then we have the Hermite-Hadamard inequalities

$$(1.3) \quad f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(t) dt \leq \frac{f(a) + f(b)}{2}.$$

The following result holds :

Theorem 2. Assume that $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex on the interval $[a, b]$. Then for any $x \in [a, b]$ we have the bounds

$$(1.4) \quad f\left(\frac{a+b}{2}\right) \leq \check{f}(x) \leq \frac{f(a) + f(b)}{2}.$$

For other results, see [1] and [3].

In [5], B. G. Pachpatte established two Hermite-Hadamard type inequalities for products of nonnegative convex functions $f, g : [a, b] \rightarrow [0, \infty)$ as follows:

$$(1.5) \quad \begin{aligned} & 2f\left(\frac{a+b}{2}\right)g\left(\frac{a+b}{2}\right) - \frac{1}{6}[f(a)g(a) + f(b)g(b)] \\ & - \frac{1}{3}[f(a)g(b) + f(b)g(a)] \\ & \leq \frac{1}{b-a} \int_a^b f(t)g(t) dt \end{aligned}$$

and

$$(1.6) \quad \begin{aligned} & \frac{1}{b-a} \int_a^b f(t)g(t) dt \\ & \leq \frac{1}{3}[f(a)g(a) + f(b)g(b)] + \frac{1}{6}[f(a)g(b) + f(b)g(a)]. \end{aligned}$$

Some new integral inequalities involving two nonnegative and integrable functions that are related to the Hermite-Hadamard type are also obtained by other

authors. For instance, in [6], B. G. Pachpatte proposed some Hermite-Hadamard type inequalities involving two log-convex functions. An analogous result for s -convex functions is established by Kirmaci et. al. in [4]. In [7], M. Z. Sarikaya presented some integral inequalities for two h -convex functions. For recent results and generalizations concerning Hermite-Hadamard type inequality for product of two functions see [7] and the references given therein. For a monograph on Hermite-Hadamard type inequalities see [2].

Motivated by the above results, in this paper we establish some Hermite-Hadamard type inequalities for the product of a convex function with a symmetrized convex function and also for two convex functions that can take negative values as well. Some examples for weighted integrals of interest are also provided.

2. THE CASE OF ONE CONVEX AND THE OTHER SYMMETRIZED CONVEX FUNCTIONS

In this section we analyze the case in which one function is convex (concave) in the classical sense and the other is symmetrized convex (concave) on an interval $[a, b]$.

Theorem 3. *Assume that $g : [a, b] \rightarrow \mathbb{R}$ is convex (concave) and $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex (symmetrized concave) and integrable on the interval $[a, b]$. Then we have*

$$(2.1) \quad \begin{aligned} & \frac{f(a) + f(b)}{2} \frac{1}{b-a} \int_a^b g(t) dt + \frac{g(a) + g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt \\ & - \frac{f(a) + f(b)}{2} \frac{g(a) + g(b)}{2} \\ & \leq \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \end{aligned}$$

and

$$(2.2) \quad \begin{aligned} & \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \\ & \leq \frac{g(a) + g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt + f\left(\frac{a+b}{2}\right) \frac{1}{b-a} \int_a^b g(t) dt \\ & - f\left(\frac{a+b}{2}\right) \frac{g(a) + g(b)}{2}. \end{aligned}$$

Proof. Assume that $g : [a, b] \rightarrow \mathbb{R}$ is convex and $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex on $[a, b]$, then for any $\lambda \in [0, 1]$

$$(2.3) \quad (1-\lambda)g(a) + \lambda g(b) \geq g((1-\lambda)a + \lambda b)$$

and

$$(2.4) \quad \frac{f(a) + f(b)}{2} \geq \check{f}((1-\lambda)a + \lambda b) \geq f\left(\frac{a+b}{2}\right),$$

where, by (1.1)

$$\check{f}((1-\lambda)a + \lambda b) = \frac{1}{2} [f((1-\lambda)a + \lambda b) + f(\lambda a + (1-\lambda)b)], \quad \lambda \in [0, 1].$$

By (2.3) and (2.4) we have

$$\begin{aligned}
0 &\leq [(1-\lambda)g(a) + \lambda g(b) - g((1-\lambda)a + \lambda b)] \\
&\quad \times \left[\frac{f(a) + f(b)}{2} - \check{f}((1-\lambda)a + \lambda b) \right] \\
&= [(1-\lambda)g(a) + \lambda g(b)] \frac{f(a) + f(b)}{2} - \frac{f(a) + f(b)}{2} g((1-\lambda)a + \lambda b) \\
&\quad - [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) \\
&\quad + \check{f}((1-\lambda)a + \lambda b) g((1-\lambda)a + \lambda b)
\end{aligned}$$

that is equivalent to

$$\begin{aligned}
&[(1-\lambda)g(a) + \lambda g(b)] \frac{f(a) + f(b)}{2} + \check{f}((1-\lambda)a + \lambda b) g((1-\lambda)a + \lambda b) \\
&\geq \frac{f(a) + f(b)}{2} g((1-\lambda)a + \lambda b) + [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b)
\end{aligned}$$

for any $\lambda \in [0, 1]$.

Integrating over λ on $[0, 1]$, we get

$$\begin{aligned}
(2.5) \quad &\frac{f(a) + f(b)}{2} \int_0^1 [(1-\lambda)g(a) + \lambda g(b)] d\lambda \\
&+ \int_0^1 \check{f}((1-\lambda)a + \lambda b) g((1-\lambda)a + \lambda b) d\lambda \\
&\geq \frac{f(a) + f(b)}{2} \int_0^1 g((1-\lambda)a + \lambda b) d\lambda \\
&+ \int_0^1 [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) d\lambda.
\end{aligned}$$

Observe that

$$\begin{aligned}
&\int_0^1 [(1-\lambda)g(a) + \lambda g(b)] d\lambda = \frac{g(a) + g(b)}{2}, \\
&\int_0^1 g((1-\lambda)a + \lambda b) d\lambda = \frac{1}{b-a} \int_a^b g(t) dt
\end{aligned}$$

and

$$\int_0^1 \check{f}((1-\lambda)a + \lambda b) g((1-\lambda)a + \lambda b) d\lambda = \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt.$$

Also

$$\begin{aligned}
(2.6) \quad &\int_0^1 [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) d\lambda \\
&= g(a) \int_0^1 (1-\lambda) \check{f}((1-\lambda)a + \lambda b) d\lambda + g(b) \int_0^1 \lambda \check{f}((1-\lambda)a + \lambda b) d\lambda.
\end{aligned}$$

Since \check{f} is symmetric, then

$$\int_0^1 (1-\lambda) \check{f}((1-\lambda)a + \lambda b) d\lambda = \int_0^1 (1-\lambda) \check{f}(\lambda a + (1-\lambda)b) d\lambda.$$

By changing the variable $s = 1 - \lambda$, $\lambda \in [0, 1]$, we have

$$\int_0^1 (1 - \lambda) \check{f}(\lambda a + (1 - \lambda) b) d\lambda = \int_0^1 s \check{f}((1 - s) a + sb) ds$$

and by (2.6) we get

$$\begin{aligned} (2.7) \quad & \int_0^1 [(1 - \lambda) g(a) + \lambda g(b)] \check{f}((1 - \lambda) a + \lambda b) d\lambda \\ &= g(a) \int_0^1 s \check{f}((1 - s) a + sb) ds + g(b) \int_0^1 \lambda \check{f}((1 - \lambda) a + \lambda b) d\lambda \\ &= [g(a) + g(b)] \int_0^1 \lambda \check{f}((1 - \lambda) a + \lambda b) d\lambda. \end{aligned}$$

Further,

$$\begin{aligned} (2.8) \quad & \int_0^1 \lambda \check{f}((1 - \lambda) a + \lambda b) d\lambda \\ &= \frac{1}{2} \int_0^1 \lambda [f((1 - \lambda) a + \lambda b) + f(\lambda a + (1 - \lambda) b)] d\lambda \\ &= \frac{1}{2} \left(\int_0^1 \lambda f((1 - \lambda) a + \lambda b) d\lambda + \int_0^1 \lambda f(\lambda a + (1 - \lambda) b) d\lambda \right). \end{aligned}$$

Using the change of variable $s = 1 - \lambda$, $\lambda \in [0, 1]$, we have

$$\int_0^1 \lambda f(\lambda a + (1 - \lambda) b) d\lambda = \int_0^1 (1 - s) f((1 - s) a + sb) ds$$

and by (2.8)

$$\begin{aligned} (2.9) \quad & \int_0^1 \lambda \check{f}((1 - \lambda) a + \lambda b) d\lambda \\ &= \frac{1}{2} \left(\int_0^1 \lambda f((1 - \lambda) a + \lambda b) d\lambda + \int_0^1 (1 - \lambda) f((1 - \lambda) a + \lambda b) d\lambda \right) \\ &= \frac{1}{2} \int_0^1 f((1 - \lambda) a + \lambda b) d\lambda = \frac{1}{2} \frac{1}{b - a} \int_a^b f(t) dt. \end{aligned}$$

By the inequality (2.5) we then get

$$\begin{aligned} & \frac{f(a) + f(b)}{2} \frac{g(a) + g(b)}{2} + \frac{1}{b - a} \int_a^b \check{f}(t) g(t) dt \\ & \geq \frac{f(a) + f(b)}{2} \frac{1}{b - a} \int_a^b g(t) dt + \frac{g(a) + g(b)}{2} \frac{1}{b - a} \int_a^b f(t) dt \end{aligned}$$

and the inequality (2.1) is proved.

By (2.3) and (2.4) we also have

$$\begin{aligned} 0 & \leq [(1 - \lambda) g(a) + \lambda g(b) - g((1 - \lambda) a + \lambda b)] \left[\check{f}((1 - \lambda) a + \lambda b) - f\left(\frac{a + b}{2}\right) \right] \\ &= [(1 - \lambda) g(a) + \lambda g(b)] \check{f}((1 - \lambda) a + \lambda b) + g((1 - \lambda) a + \lambda b) f\left(\frac{a + b}{2}\right) \\ & \quad - [(1 - \lambda) g(a) + \lambda g(b)] f\left(\frac{a + b}{2}\right) - g((1 - \lambda) a + \lambda b) \check{f}((1 - \lambda) a + \lambda b) \end{aligned}$$

for any $\lambda \in [0, 1]$, which is equivalent to

$$\begin{aligned} & [(1-\lambda)g(a) + \lambda g(b)] f\left(\frac{a+b}{2}\right) + g((1-\lambda)a + \lambda b) \check{f}((1-\lambda)a + \lambda b) \\ & \leq [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) + g((1-\lambda)a + \lambda b) f\left(\frac{a+b}{2}\right) \end{aligned}$$

for any $\lambda \in [0, 1]$.

Taking the integral over $\lambda \in [0, 1]$, we get

$$\begin{aligned} (2.10) \quad & f\left(\frac{a+b}{2}\right) \int_0^1 [(1-\lambda)g(a) + \lambda g(b)] d\lambda \\ & + \int_0^1 g((1-\lambda)a + \lambda b) \check{f}((1-\lambda)a + \lambda b) d\lambda \\ & \leq \int_0^1 [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) d\lambda \\ & + f\left(\frac{a+b}{2}\right) \int_0^1 g((1-\lambda)a + \lambda b) d\lambda. \end{aligned}$$

Since

$$\begin{aligned} & \int_0^1 [(1-\lambda)g(a) + \lambda g(b)] d\lambda = \frac{g(a) + g(b)}{2}, \\ & \int_0^1 \check{f}((1-\lambda)a + \lambda b) g((1-\lambda)a + \lambda b) d\lambda = \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \\ & \int_0^1 g((1-\lambda)a + \lambda b) d\lambda = \frac{1}{b-a} \int_a^b g(t) dt \end{aligned}$$

and, as above

$$\int_0^1 [(1-\lambda)g(a) + \lambda g(b)] \check{f}((1-\lambda)a + \lambda b) d\lambda = \frac{g(a) + g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt.$$

From (2.10) we then get

$$\begin{aligned} & f\left(\frac{a+b}{2}\right) \frac{g(a) + g(b)}{2} + \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \\ & \leq \frac{g(a) + g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt + f\left(\frac{a+b}{2}\right) \frac{1}{b-a} \int_a^b g(t) dt, \end{aligned}$$

and the inequality (2.2) is proved. \square

We observe that the inequalities (2.1) and (2.2) can be written in an equivalent form as

$$\begin{aligned} (2.11) \quad & \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt - \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \\ & \leq \left[\frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right] \left[\frac{g(a) + g(b)}{2} - \frac{1}{b-a} \int_a^b g(t) dt \right] \end{aligned}$$

and

$$(2.12) \quad \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt - \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt \\ \geq - \left[\frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \right] \left[\frac{g(a)+g(b)}{2} - \frac{1}{b-a} \int_a^b g(t) dt \right].$$

Remark 1. Since any convex function on $[a, b]$ is symmetrized convex and integrable, then the inequalities (2.1) and (2.2) hold, a fortiori, for both f, g that are convex (concave) on $[a, b]$. If f is symmetrical, i.e. $f(t) = f(a+b-t)$ for any $t \in [a, b]$, then from (2.1) and (2.2) we get the simpler forms

$$(2.13) \quad \frac{f(a)+f(b)}{2} \frac{1}{b-a} \int_a^b g(t) dt + \frac{g(a)+g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt \\ - \frac{f(a)+f(b)}{2} \frac{g(a)+g(b)}{2} \\ \leq \frac{1}{b-a} \int_a^b f(t) g(t) dt$$

and

$$(2.14) \quad \frac{1}{b-a} \int_a^b f(t) g(t) dt \\ \leq \frac{g(a)+g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt + f\left(\frac{a+b}{2}\right) \frac{1}{b-a} \int_a^b g(t) dt \\ - f\left(\frac{a+b}{2}\right) \frac{g(a)+g(b)}{2}.$$

These are equivalent to

$$(2.15) \quad \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt - \frac{1}{b-a} \int_a^b f(t) g(t) dt \\ \leq \left[\frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right] \left[\frac{g(a)+g(b)}{2} - \frac{1}{b-a} \int_a^b g(t) dt \right]$$

and

$$(2.16) \quad \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt - \frac{1}{b-a} \int_a^b f(t) g(t) dt \\ \geq - \left[\frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \right] \left[\frac{g(a)+g(b)}{2} - \frac{1}{b-a} \int_a^b g(t) dt \right].$$

We observe that, if $g : [a, b] \rightarrow \mathbb{R}$ is concave (convex) and $f : [a, b] \rightarrow \mathbb{R}$ is symmetrized convex (symmetrized concave) and integrable on the interval $[a, b]$, then by (2.11) and (2.12) for $g \leftrightarrow -g$ we get

$$(2.17) \quad \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt - \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt \\ \leq \left[\frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right] \left[\frac{1}{b-a} \int_a^b g(t) dt - \frac{g(a)+g(b)}{2} \right]$$

and

$$(2.18) \quad \frac{1}{b-a} \int_a^b \check{f}(t) g(t) dt - \frac{1}{b-a} \int_a^b f(t) dt \frac{1}{b-a} \int_a^b g(t) dt \\ \geq - \left[\frac{1}{b-a} \int_a^b f(t) dt - f\left(\frac{a+b}{2}\right) \right] \left[\frac{1}{b-a} \int_a^b g(t) dt - \frac{g(a)+g(b)}{2} \right].$$

3. THE CASE OF TWO CONVEX FUNCTIONS

We have the following results for two functions of same convexity on $[a, b]$:

Theorem 4. Assume that $f, g : [a, b] \rightarrow \mathbb{R}$ are both convex (concave) on $[a, b]$. Then we have

$$(3.1) \quad \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] g(t) dt \\ + \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} g(a) + \frac{t-a}{b-a} g(b) \right] f(t) dt \\ \leq \frac{1}{3} [f(a)g(a) + f(b)g(b)] + \frac{1}{6} [f(a)g(b) + f(b)g(a)] \\ + \frac{1}{b-a} \int_a^b f(t)g(t) dt$$

and

$$(3.2) \quad \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] g(a+b-t) dt \\ + \frac{1}{b-a} \int_a^b \left[\frac{t-a}{b-a} g(a) + \frac{b-t}{b-a} g(b) \right] f(t) dt \\ \leq \frac{1}{3} [f(a)g(b) + f(b)g(a)] + \frac{1}{6} [f(a)g(a) + f(b)g(b)] \\ + \frac{1}{b-a} \int_a^b f(t)g(a+b-t) dt.$$

If one function is convex and the other concave, then the inequalities in (3.1) and (3.2) reverse.

Proof. By the convexity of the functions $f, g : [a, b] \rightarrow \mathbb{R}$ on $[a, b]$ we have

$$0 \leq [(1-\lambda)f(a) + \lambda f(b) - f((1-\lambda)a + \lambda b)] \\ \times [(1-\lambda)g(a) + \lambda g(b) - g((1-\lambda)a + \lambda b)] \\ = [(1-\lambda)f(a) + \lambda f(b)][(1-\lambda)g(a) + \lambda g(b)] \\ + f((1-\lambda)a + \lambda b)g((1-\lambda)a + \lambda b) \\ - [(1-\lambda)f(a) + \lambda f(b)]g((1-\lambda)a + \lambda b) \\ - [(1-\lambda)g(a) + \lambda g(b)]f((1-\lambda)a + \lambda b)$$

for any $\lambda \in [0, 1]$.

This is equivalent to

$$\begin{aligned}
& [(1-\lambda)f(a) + \lambda f(b)]g((1-\lambda)a + \lambda b) \\
& + [(1-\lambda)g(a) + \lambda g(b)]f((1-\lambda)a + \lambda b) \\
& \leq [(1-\lambda)f(a) + \lambda f(b)][(1-\lambda)g(a) + \lambda g(b)] \\
& + f((1-\lambda)a + \lambda b)g((1-\lambda)a + \lambda b) \\
& = (1-\lambda)^2 f(a)g(a) + \lambda^2 f(b)g(b) \\
& + \lambda(1-\lambda)f(b)g(a) + (1-\lambda)\lambda f(a)g(b) \\
& + f((1-\lambda)a + \lambda b)g((1-\lambda)a + \lambda b)
\end{aligned}$$

for any $\lambda \in [0, 1]$.

Integrating over $\lambda \in [0, 1]$ we get

$$\begin{aligned}
(3.3) \quad & \int_0^1 [(1-\lambda)f(a) + \lambda f(b)]g((1-\lambda)a + \lambda b) d\lambda \\
& + \int_0^1 [(1-\lambda)g(a) + \lambda g(b)]f((1-\lambda)a + \lambda b) d\lambda \\
& \leq f(a)g(a) \int_0^1 (1-\lambda)^2 d\lambda + f(b)g(b) \int_0^1 \lambda^2 d\lambda \\
& + f(b)g(a) \int_0^1 \lambda(1-\lambda) d\lambda + f(a)g(b) \int_0^1 (1-\lambda)\lambda d\lambda \\
& + \int_0^1 f((1-\lambda)a + \lambda b)g((1-\lambda)a + \lambda b) d\lambda.
\end{aligned}$$

Observe that

$$\int_0^1 \lambda^2 d\lambda = \int_0^1 (1-\lambda)^2 d\lambda = \frac{1}{3} \text{ and } \int_0^1 \lambda(1-\lambda) d\lambda = \frac{1}{6}.$$

Using the change of variable $t = (1-\lambda)a + \lambda b$, $\lambda \in [0, 1]$ we have $\lambda = \frac{t-a}{b-a}$, $d\lambda = \frac{1}{b-a} dt$ and then

$$\int_0^1 f((1-\lambda)a + \lambda b)g((1-\lambda)a + \lambda b) d\lambda = \frac{1}{b-a} \int_a^b f(t)g(t) dt,$$

$$\begin{aligned}
& \int_0^1 [(1-\lambda)f(a) + \lambda f(b)]g((1-\lambda)a + \lambda b) d\lambda \\
& = \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] g(t) dt
\end{aligned}$$

and

$$\begin{aligned}
& \int_0^1 [(1-\lambda)g(a) + \lambda g(b)]f((1-\lambda)a + \lambda b) d\lambda \\
& = \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} g(a) + \frac{t-a}{b-a} g(b) \right] f(t) dt.
\end{aligned}$$

By making use of (3.3) we get (3.1).

Consider the function $h : [a, b] \rightarrow \mathbb{R}$ defined by $h(t) := g(a + b - t)$, $t \in [a, b]$. If g is convex, then h is convex and by (3.1) we get

$$\begin{aligned} & \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] h(t) dt \\ & + \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} h(a) + \frac{t-a}{b-a} h(b) \right] f(t) dt \\ & \leq \frac{1}{3} [f(a)h(a) + f(b)h(b)] + \frac{1}{6} [f(b)h(a) + f(a)h(b)] \\ & + \frac{1}{b-a} \int_a^b f(t)h(t) dt \end{aligned}$$

that is equivalent to (3.2). \square

Remark 2. Assume that $f, g : [a, b] \rightarrow \mathbb{R}$ are both convex (concave) on $[a, b]$. Then by adding the inequalities (3.1) and (3.2) we get

$$\begin{aligned} (3.4) \quad & \frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] \check{g}(t) dt + \frac{g(a)+g(b)}{2} \frac{1}{b-a} \int_a^b f(t) dt \\ & \leq \frac{g(a)+g(b)}{2} \frac{f(a)+f(b)}{2} + \frac{1}{b-a} \int_a^b f(t) \check{g}(t) dt \end{aligned}$$

and since, as in the proof of Theorem 3, we have

$$\frac{1}{b-a} \int_a^b \left[\frac{b-t}{b-a} f(a) + \frac{t-a}{b-a} f(b) \right] \check{g}(t) dt = \frac{f(a)+f(b)}{2} \frac{1}{b-a} \int_a^b g(t) dt$$

and by (3.4) we recapture the inequality (2.1) for $f \leftrightarrow g$.

4. SOME EXAMPLES

Consider the symmetrical function $f : [a, b] \rightarrow \mathbb{R}$, $f(t) = \left| t - \frac{a+b}{2} \right|^p$ for $p \geq 1$. Then $f\left(\frac{a+b}{2}\right) = 0$, $\frac{f(a)+f(b)}{2} = \frac{(b-a)^p}{2^p}$ and

$$\frac{1}{b-a} \int_a^b \left| t - \frac{a+b}{2} \right|^p dt = \frac{(b-a)^p}{(p+1)2^p}.$$

Assume that g is convex, then by (2.1) and (2.2) we have

$$\begin{aligned} (4.1) \quad & \frac{(b-a)^p}{2^p} \left[\frac{1}{b-a} \int_a^b g(t) dt - \frac{p}{p+1} \frac{g(a)+g(b)}{2} \right] \\ & \leq \frac{1}{b-a} \int_a^b \left| t - \frac{a+b}{2} \right|^p g(t) dt \leq \frac{(b-a)^p}{(p+1)2^p} \frac{g(a)+g(b)}{2}. \end{aligned}$$

If we take in (4.1) $p = 1$, then we get

$$\begin{aligned} (4.2) \quad & \frac{b-a}{2} \left[\frac{1}{b-a} \int_a^b g(t) dt - \frac{g(a)+g(b)}{4} \right] \leq \frac{1}{b-a} \int_a^b \left| t - \frac{a+b}{2} \right| g(t) dt \\ & \leq (b-a) \frac{g(a)+g(b)}{8}. \end{aligned}$$

If we take in (4.1) $p = 2$, then we get

$$(4.3) \quad \frac{(b-a)^2}{4} \left[\frac{1}{b-a} \int_a^b g(t) dt - \frac{g(a) + g(b)}{3} \right] \\ \leq \frac{1}{b-a} \int_a^b \left(t - \frac{a+b}{2} \right)^2 g(t) dt \leq \frac{g(a) + g(b)}{24} (b-a)^2.$$

Consider the function $f : [0, \pi] \rightarrow [0, 1]$, $f(x) = \sin x$. The function is concave and symmetrical on $[0, \pi]$. If we use the inequalities (2.1) and (2.2) for the concave function $g : [0, \pi] \rightarrow \mathbb{R}$, then we have:

$$(4.4) \quad \frac{g(0) + g(\pi)}{\pi} \leq \frac{1}{\pi} \int_0^\pi g(t) \sin t dt \leq \frac{1}{\pi} \int_0^\pi g(t) dt - \frac{\pi-2}{2\pi} (g(0) + g(\pi)).$$

Also, if we consider the function $f : [\pi, 2\pi] \rightarrow [0, 1]$, $f(x) = \sin x$. The function is convex and symmetrical on $[\pi, 2\pi]$. If we use the inequalities (2.1) and (2.2) for the convex function $g : [\pi, 2\pi] \rightarrow \mathbb{R}$, then we have:

$$(4.5) \quad -\frac{g(\pi) + g(2\pi)}{\pi} \leq \frac{1}{\pi} \int_\pi^{2\pi} g(t) \sin t dt \\ \leq \frac{\pi-2}{2\pi} (g(\pi) + g(2\pi)) - \frac{1}{\pi} \int_\pi^{2\pi} g(t) dt.$$

REFERENCES

- [1] S. S. Dragomir, Symmetrized convexity and Hermite-Hadamard type inequalities, *J. Math. Ineq.* **10** (2016), No. 4, 901–918. Preprint *RGMA Res. Rep. Coll.* **17** (2014), Art. 2. [Online <http://rgmia.org/papers/v17/v17a02.pdf>].
- [2] S. S. Dragomir and C. E. M. Pearce, *Selected Topics on Hermite-Hadamard Inequalities and Applications*, RGMA Monographs, 2000. [Online http://rgmia.org/monographs/hermite_hadamard.html].
- [3] A. El Farissi, M. Benbachir and M. Dahmane, An extension of the Hermite-Hadamard inequality for convex symmetrized functions. *Real Anal. Exchange* **38** (2012/13), no. 2, 467–474.
- [4] U. S. Kirmaci, M. Klaričić-Bakula, M. E. Özdemir and J. Pečarić, Hadamard-type inequalities for s -convex functions, *Appl. Math. Comput.*, **1** (193) (2007), 26–35.
- [5] B. G. Pachpatte, On some inequalities for convex functions, *RGMA Res. Rep. Coll.* **6** (2003), Supplement, Art. 1, [Online <http://rgmia.org/papers/v6e/convex1.pdf>].
- [6] B. G. Pachpatte, A note on integral inequalities involving two log-convex functions, *Math. Inequal. Appl.*, **4** (7) (2004), 511–515.
- [7] M. Z. Sarikaya, A. Saglam and H. Yildirim, On some Hadamard-type inequalities for h -convex functions, *J. Math. Inequal.*, **2** (3) (2008), 335–341.
- [8] E. Set, M. E. Özdemir and S. S. Dragomir, On the Hermite-Hadamard inequality and other integral inequalities involving two functions, *J. Inequal. Appl.*, **2010**, 2010:148102.

¹MATHEMATICS, COLLEGE OF ENGINEERING & SCIENCE, VICTORIA UNIVERSITY, PO Box 14428, MELBOURNE CITY, MC 8001, AUSTRALIA.

E-mail address: sever.dragomir@vu.edu.au

URL: <http://rgmia.org/dragomir>

²DST-NRF CENTRE OF EXCELLENCE IN THE MATHEMATICAL AND STATISTICAL SCIENCES, SCHOOL OF COMPUTER SCIENCE & APPLIED MATHEMATICS, UNIVERSITY OF THE WITWATERSRAND, PRIVATE BAG 3, JOHANNESBURG 2050, SOUTH AFRICA